TAB/MUA NPUBA3KM KPYT NbIX KONOALEB M3 CBOPHOM0 XENE30BETOHA (1.8 -nodaman 1.2)
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nreé B-2 1500 3210 2700 \80 - - 1 - - - - 3 - - - 1 - - 1 1 - C -5 r
B1-52 B-2 1500 2750 2100 650 0,05 - 1 - - - 1 2 - - - 1 / - - 1 1 - C -3 r
B1-53 B-2 1500 3310 2700 610 \ - 1 - - - - 3 - - - /1/ - - - 1 1 - C -5 r
B1-54 B-2 1500 3360 2700 660 0,05 - 1 - - - - 3 - - // 1 - - - 1 1 - C -5 r
nr11 B-2 1500 3270 2700 570 - - 1 - - - - 3 - > - - 1 - - 1 1 - C -5 r
B1-55 B-2 1500 3140 2400 140 0,05 - 1 - - - 1 2 // - - 1 - - - 3 1 - C C-6 r
B1-56 B-2 1500 2700 2100 600 - - 1 -\\- - 2 A - - - 1 - - - 1 1 - C (-3 r
B1-57 B-2 1500 2700 2100 600 - - 1 - -\\- 2 1 - - - 1 - - - 1 1 - C -3 r
B1-58 B-2 1500 2700 2100 600 - - 1 - - -> 2 1 - - - 1 - - - 1 1 - C (-3 r
B-s9 | B2 | moo | ame0 | 20 | eso | 005 | - [ 1| - | - - N |- |- -] -] -] -] -]c] 3T
nr1 B-2 2000 2750 2100 650 - - - ' A - - - - 1 2 - - - - 1 1 1 - C -3 r
B1-60 B-2 1500 2750 2100 650 - - 1 - - - 2 1 \\ - - 1 - - - 1 1 - C (-3 r
B1-61 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-62 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - \\ 1 - - - 1 1 - C -3 r
B1-63 B-2 1500 2750 2100 650 / - 1 - - - 2 1 - - - \1\ - - - 1 1 - C (-3 r
B1-64 B-2 1500 2750 2100 650// - - 1 - - - 2 1 - - - 1 > - - 1 1 - C (-3 r
nre B-2 1500 2750 2100 /@0 0,05 - 1 - - - 2 1 - - - - 1 > - 1 1 - C -3 r
B1-65 B-2 1500 2750 M 650 - - 1 - - - 2 1 - - - 1 - - 1 1 - C (-3 r
B1-66 B-2 1500 2750//2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 - C (-3 r
nr2 B-2 1500 /Z’ﬁ) 2100 650 - - 1 - - - 2 1 - - - - 1 - - 1 \1\ - C C-3 r
B1-67 B-2 15}0/ 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 \\ C (-3 r
B1-68 B-2 //1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - \ (-3 r

K1 /BQ/ 1000 4040 3600 L40 - 1 - - - L - - - - 1 - - - - 1 1 - C ‘- r
koA B-2 1000 3690 3000 690 - 1 - - 1 3 - - - - 1 - - - - 2 1 - C E)\ r
Beezo: | Zhum 0,25 2 21 1 1 T | 32 | 3k 1 2 2 18 3 - 1 28 | 26| - | 24 2% |
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1 2 3 b 5 b 1 8 9 0 1 M [ 12 (B % 5 [ [ 1718 119 [ 2021 22] 23 | 24|25 26 21
B1-14 B-2 1500 2760 2100 660 - - 1 - - - 2 1 - - - 1 - - - 1 1 - T (-3 r
B1-1 B-2 2000 2750 2100 650 - - - 1 - - - - 1 2 - - - 1 - 1 1 - C C-3 r
B1-2 B-2 2000 2750 2100 650 - - - 1 - - - - 1 2 - - - 1 - 1 1 - C -3 r
B1-3 B-2 1500 27170 2100 670 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-4 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-5 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-6 B-2 1500 2780 2100 680 - - 1 - - - 2 1 - - - 1 - - - 2 1 - C C-3 r
B1-17 B-2 1500 2760 2100 660 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
nr1 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - - 1 - - 1 1 - C -3 r
B1-8 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-9 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-10 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-11 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-12 B-2 2000 2750 2100 650 - - - 1 - - - - 1 2 - - - 1 - 1 1 - C (-3 r
B1-13 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-15 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - T -3 r

Bceao: | 1owm - - 13 3 - -1 26| 18 3 6 - 12 1 3 - 171 16 - 16 16 16
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B1-48 B-2 2000 2890 2400 490 0,10 - - 1 - - - - 1 2 - - - 1 - 1 1 - C C-6 r
B1-49 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-51 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-36 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
nre B-2 2000 2780 2100 680 0,10 - - 1 - - - - 1 2 - - - - 1 2 1 - T -3 r
B1-37 B-2 2000 2780 2100 680 - - - 1 - - - - 1 2 - - - 1 - 2 1 - C (-3 r
B1-38 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-16 B-2 1500 2900 2400 500 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C C-6 r
B1-17 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-18 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-19 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
nr2 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - - 1 - - 1 1 - C C-3 r
B1-20 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-21 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-22 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C C-3 r
B1-23 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-24 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-25 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C C-3 r
B1-26 B-2 2000 2750 2100 650 - - - 1 - - - - 1 2 - - - 1 - 1 1 - C (-3 r

Bcezo: | 19um 0,20 - 15 A - - 30 5] & 8 - 14 1 3 1 21119 - 19 19 19
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nr3 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - - 1 - - 1 1 - C (-3 r
B1-27 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-39 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-40 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-84 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
nr9 B-2 1500 2820 2100 120 - - 1 - - - 2 1 - - - - 1 - - 3 1 - C -3 r
B1-85 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-86 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-50 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
(K3 B-2 1000 3650 2700 950 - 1 - - - 3 - - - - 1 - - - - 2 2 - C -5 r

Bcezo: | 10wm - 1 9 - - 3 9 18 - - 1 1 2 - - B3] 1 - 10 10 10
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B1-35 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C C-3 r
B1-34 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-33 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-32 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-31 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-30 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-29 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-28 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C C-3 r

Bceao: Bum - - 8 - - - 16 8 - - - 8 - - - 8 8 - 8 8 8
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B1-41 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-42 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-43 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-44 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
nrs B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - - 1 - - 1 1 - C -3 r
B1-45 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-46 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C C-3 r
B1-47 B-2 2000 2750 2100 650 0,10 - - 1 - - - - 1 2 - - - 1 - 1 1 - T -3 r

Bcezo: Bum 0,10 - T 1 - - [ 1 2 - 6 1 1 - 8 8 - 8 8 8
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B1-69 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-70 B-2 1500 2750 2100 650 0,05 - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-T1 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
nr11 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - - 1 - - 1 1 - C C-3 r
B1-72 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-73 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - T -3 r
(K& B-2 1000 3650 2700 950 - 1 - - - 3 - - - - 1 - - - - 2 2 - T -5 r

Bcezo: Tum 0,05 1 6 - - 3 12 6 - - 1 5 1 - - 8 8 - 1 I 1
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B1-83 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-82 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-81 B-2 1500 2760 2100 660 0,05 - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-80 B-2 1500 2750 2100 650 0,05 - 1 - - - 2 1 - - - 1 - - - 1 1 - C C-3 r
B1-79 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-77 B-2 1500 2750 2100 650 0,05 - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
B1-78 B-2 1500 2930 2100 830 0,05 - 1 - - - 2 1 - - - 1 - - - b 1 - C C-3 r
K5 B-2 1000 3830 3000 830 - 1 - - 1 0 - - - - 1 - - - - 2 3 - T -7 r

Bcezo: Bum 0,20 1 T - 1 - [ - - 1 1 - - - 12110 - 8 8 8
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B1-76 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
nr1o B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - - 1 - - 1 1 - C -3 r
B1-75 B-2 1500 2760 2100 660 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-T4 B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-81a | B-2 1500 2750 2100 650 0,05 - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r

B1-80a | B-2 1500 3830 3000 830 - - 1 - - - 2 2 - - - 1 - - - 2 3 - T -7 r
B1-1a B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C (-3 r
B1-2a B-2 1500 2750 2100 650 - - 1 - - - 2 1 - - - 1 - - - 1 1 - C -3 r
(K6 B-2 1000 3650 2700 950 - 1 - - - 3 - - - - 1 - - - - 2 2 - C -5 r
K7 B-2 1000 3650 2700 950 - 1 - - - 3 - - - - 1 - - - - 2 2 - C -5 r
(K8 B-2 1000 3650 2700 950 - 1 - - - 3 - - - - 1 - - - - 2 2 - T -5 r
Bcezo: Twm 0,05 3 8 - - 9 16 9 - - 3 1 1 - - 5] 16 - 11 11 11
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